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QUESTION 1

The router ID is not configured.

How does OSPFv3 determine the router ID in this situation?

A. OSPFv3 uses the IPv4 address of the first interface that comes up.
B. OSPFv3 uses the IPv6 address of the last interface that comes up.
C. OSPFv3 uses the IPv6 address of the first interface that comes up.
D. OSPFv3 uses the IPv4 address of the last interface that comes up.

Correct Answer: A

QUESTION 2

You must limit access to a printer with a persistent DHCP address of 2001:db8:0000:50::10/64 in VLAN v50 to users
assigned to VLAN v50 only. Which action would satisfy this requirement?

A. Implement persistent MAC learning to ensure that 2001:db8:0000:50::10 is allocated properly.

B. Implement a firewall filter on the IRB interface for VLAN v50, blocking traffic to/from 2001:db8:0000:50::10.
C. Implement a firewall filter on the VLAN v50, blocking traffic to/from 2001:db8:0000:50::10.

D. Implement DHCP snooping on VLAN v50 to ensure that 2001:db8:0000:50::10 is allocated properly.

Correct Answer: B

QUESTION 3

Which statement describes BFD?

A. BFD rapidly detects link failures.

B. BFD provides route loop protection.

C. BFD provides broadcast storm protection.

D. BFD provides high availability with multiple Routing Engines.

Correct Answer: A

QUESTION 4

Click the Exhibit button.
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{master:0} [edit interfaces]
userf@switch-1%# show
interface-range range-1 {
member ge-0/0/10;
member—-range ge—-0/0/6 to ge-0/0/8;
unit O o
family ethernet-switching;

Referring to the exhibit, which set of interfaces is enabled for Ethernet switching?
A. ge-0/0/6, ge-0/0/7, and ge-0/0/8

B. ge-0/0/6, ge-0/0/8, and ge-0/0/10

C. ge0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/10

D. ge-0/0/6 and ge-0/0/8

Correct Answer: C

QUESTION 5

Exhibit.
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User B (.101) Backup Router
userfRl1# show interface ge-0/0/0.0
family inet |
address 172.25.100.2/24 |
vrrp-group 10 {
virtual-address
172.25.100.1;
accept-data;
priorxity 200;

userfR2# show interface ge-0/0/0.0
family inet |
address 172.25.100.3/24 ({
vrrp-group 20 |

virtual -address
172.25.100.1;

accept-data;

prioxrity 300;

You are attempting to set up VRRP with R1 and R2 being participating members. You want R1 to be the master router
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and R2 to be the backup router with the virtual router they create being at address 172.25.100.1. The virtual router is not
pinging from either User A or User B.

Referring to the exhibit, what must be done to correct the problem?
A. The VRRP group value on R1 and R2 must match.

B. A VRRP authentication type value is needed on R1 and R2.

C. A VRRP policy is needed on R1 and R2.

D. The VRRP priority value on R1 and R2 must match

Correct Answer: A

https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration- statement/priority-edit-interfaces-
vrrp.html

QUESTION 6

You were provided a network diagram that told you to number your network from the 191.255.0.0/16 space. OSPF is
enabled and adjacencies are up, but no routers are learning any routes. What can explain this?

A. The default OSPF export policies advertise nothing, so you need to apply export policy

B. The default OSPF import policy rejects all OSPF routes, so you need to apply import policy

C. You need to modify the martian table with a 191.255.0.0/16 accept statement

D. You need to enable OSPF on the 100 interface to provide a route to the RID of each router in the network

Correct Answer: C

QUESTION 7

You do not want any spanning tree protocols operating in your environment, and you want to ensure that no BPDUs can
be introduced into the environment.

Which statement is true in this scenario?

A. You must run a spanning tree protocol to block BPDUs.

B. Incoming BPDUs are blocked by default if a spanning tree protocol is not operating.
C. You can block BPDUs without running a spanning tree protocol using Layer 3 control.
D. Incoming BPDUs can only be blocked by the root bridge.

Correct Answer: C

QUESTION 8

JNO-351 VCE Dumps | JNO-351 Practice Test | INO-351 Study Guide 5/10


https://www.pass2lead.com/jn0-351.html
https://www.pass2lead.com/jn0-351.html
https://www.pass2lead.com/jn0-351.html

P 2L d https://lwww.pass2lead.com/jn0-351.html
aSS ea 2023 Latest pass2lead JNO-351 PDF and VCE dumps Download

—— https://Pass2Lead.com

You have a VLAN with two devices acting as a single gateway for hosts.

In this scenario, which protocol would provide a single gateway IP for the hosts?
A. VRRP

B. OSPF

C.1s-IS

D. BGP

Correct Answer: A

QUESTION 9
Exhibit:
userffhost> show log messages | match 12a3ld | last 1
Apr 13 17:59:30 host 12al1d[1229]: L2ALD MAC LIMIT REACHED IF: Limit
on learned MAC addresses reached for ge-—
0/0/23.0; current count is 2
userfhost> show configuration switch-options interface ge-0/0/23.0
interface-mac-limit {
2;
packet—action drop-and-log;
}
user@host> show configuration wvlans
default {
vlan-id 1;
13-interface irb.1;
switch-options {
interface-mac-limit {
3;
paciet-action drop-and-log:
}
}
}
userfhost> show configuration interfaces irb
unit 14
family inet {
address 172.25.11.10/24;
}
}

You have an ESXi host that is connected to ge-0/0/23 on a Juniper EX Series switch. You added a new VM that will also
use the same ge-0/0/23 interface. Unfortunately, the new VM is not able to reach external devices.
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Referring to the exhibit, which command would solve this problem?
A. set vlans default switch-options interface-mac-limit 4

B. set vlans default switch-options interface-mac-limit 5

C. set switch-options interface ge-0/0/23.0 interface-mac-limit 3

D. clear ethernet-switching recovery-timeout interface ge-0/0/23.0

Correct Answer: C

QUESTION 10

When electing a DIS in an 1S-IS network, what is used to break a priority tie?
A. highest router ID

B. highest MAC address

C. lowest MAC address

D. lowest router ID

Correct Answer: B

Explanation: https://www.juniper.net/documentation/en_US/junos/topics/concept/routing- protocol-is-is-security-
designated-router-understanding.html

QUESTION 11

Which two statements about DIS elections in IS-IS are correct? (Choose two.)

A. If a priority tie occurs, the router with the higher subnetwork point of attachment (SNPA) value becomes the DIS.
B. The router with the higher priority value becomes the DIS.

C. The router with the lower priority value becomes the DIS.

D. If a priority tie occurs, the router with the lower subnetwork point of attachment (SNPA) value becomes the DIS.

Correct Answer: AB

QUESTION 12

Click the Exhibit button.
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|master:0) [edit protocels rastp]
user@Switch-1§ show
bridge-priority 4k;
interface ge-0/0/8.0 {

coat 1;
)
interface all |

priority 128;

coat 200000;

(master:0) [edit protocols ratp]
user@Switch-31 show
bridge-priority 32k;
interface all |

priority 16;

coat 2000;

{master:0) [edit protocols ratp]
user@Switch-2§ show
bridge-priority B8k;
interface ge-0/0/10.0 {

coat 1;
}
interface all |

priority 16;

coat 20000;

ge0/0/12.0

{master:0) [edit protocels retpl
usecr@Switch-4§ show
bridge-priority 3&k;
interface all |

priority 128;

cost 20000;

Referring to the exhibit, which port on Switch-2 will be selected as the RSTP root port?

A. ge-0/0/8.0
B. ge-0/0/9.0
C. ge-0/0/10.0
D. ge-0/0/1.0

Correct Answer: C

QUESTION 13

Referring to the exhibit, which two statements are correct? (Choose two.)
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Area
49 0003

Area
49.0002

Area L1 and L2
49 0001
R1 % %

R3
L1and L2

L1

A. R2 and R3 can form a Level 1 IS-IS adjacency.
B. R4 and R5 can form a Level 1 IS-IS adjacency.
C. R1 and R5 can form a Level 1 IS-IS adjacency.
D. R3 and R4 can form a Level 2 IS-IS adjacency.

Correct Answer: AD

QUESTION 14

What are three reasons a BGP route would be hidden? (Choose three.)
A. The AS Path contains a 0.

B. It is suppressed by a damping policy.

C. The Local Preference is 0.

D. The next hop is unreachable.

E. Itis rejected by a firewall term.

Correct Answer: ABD

QUESTION 15
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Click the Exhibit button.

Route X

R5 (L)

-

k —~ _/ As 64502

| _‘ I_..._-'l

R4

Referring to the exhibit, Router 1 learns about Route X.

Which statement is correct about Route X when using the default BGP advertisement rules?
A. R1 will not advertise this route to any peers.

B. R3 will not advertise this route to R4 or R5 without an explicit policy.

C. R4 and R5 will not advertise this route to each other.

D. R2 will not advertise this route to R3 without an explicit policy.

Correct Answer: C
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